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בחלבמים
אא5)(בהולנדהבקרמגדליהתאחדותירחון

בדיקתעלפרטים1997אפרילבחוברתהביא

נוגעשהנושאמאחרפרות.בחלבהמיםנושא
למחיר/גםמזהוכתוצאההחלב,לטיבישירות

אתלהביאלנכוןמצאנוליצרן,שנקבעקנס
נקדיםמילולי.כמעטבתירגוםהדבריםעיקר
אמורהלחלבמיםהוספתשקביעתונציין,

-הקפאוןנקודתבדיקתבאמצעותלהתגלות

יותרהקרובהבטמפרטורהקופאשהחלבככל

חיצונייםמיםשנוספוחשדישכןמ"צ,לאפס

מ.מ.)(לחלב.

?Veeteelיע/79
חלב-שלהאיכותבביקורתבשנה,פעמיים

במיכלהחלבשלהקפאוןנקודתנקבעתמשק

ב-0.5נמוכהחלבשלהקפאוןנקודתהמשק.
מחומריםנובעהדברמים.שלמזאתמ"צ

בחלבהנמצאיםלקטוז)מלחים,(מומסים
ישנםכאשרהקפאון.נקודתלהורדתוגורמים

שלהבדיקהבחלב,מיםתוספתשלאחדכאחוז
שלהקפאוןנקודתזאת.מגלההקפאוןנקודת
משוםהיתרביןצרים,בגבולותנעהפרותחלב

בשווי-משקלנמצאיםהמומסיםשהחומרים

הפרה.שלבדםגםהנמצאיםאלהעםאוסמוטי
לקרחלבביןוגםפרותביןשונינמצאזאת,עם

נבדקההנוכחי,המחקרבמקרהערב.וחלב
בתחלובה.לימיםבהתאםגםהקפאוןנקודת

כמשךחלבדוגמאותנלקחוהמבחןבמשק
לחודהמניבות,הפרותמכלשלמהשנה

המבצעכלערב.מחליבותולחודלקרמחליבות
שהיהכךהחלב,ביקורתעםבבדבדנערך

מלאים.חלבוהרכבתנובהנתונילקבלאפשר

הרפתבתוךרקהוחזקוהפרותכלשנה,באותה
היתהלפרההממוצעתוהתנובהמרעה)בלי(

הפרותתנובתק"ג/שנה.10,000כמעט
בקרובחליבותק"ג,14.6היתהערבבחליבות

חלבון,5~3.63ועודשומן4.32%עםק"ג,17.8
דוגמותשלהקפאוןנקודחאתבממוצע.הכל

החלב.ביקורתבמעבדתקבעוהחלב
במהלךהפרותשלהפרטניתהקפאוןנקודת

בולטיםבצמוד.כאןבתרשיםמובאתהתחלובה

נקודתוחלב-ערב.חלב-בקרביןההבדלים
יותרקרובה(טובהפחותבבקריםהקפאון

שלדילוללהניח,ישלערבים.בהשוואהלאפס),
משוםהקפאון,נקודתעלכלשהיהשפעהיש

מאשרחלביותרנתנוהפרותשבבקרים
נקודתנמצאההתחלובהבאמצעבערבים.
ההבדליםאולםמוצלחת,הפחותהקפאון

ישנולכל,מעלגדולים.אינםהתחלובהלאורך
הפרותכלשלאמאחראלא,פרות.ביןרבשוני
-בתחלובהשלבבאותוזמןבאותוהיו

צריכיםלאבמשקהמיכלבחלבהשינויים

פרות.ביןהשונילשקף
לנקודתבהשוואה-במשקהמיכלחלב
מ"צ0.520-שלהארציתהממוצעתהקפאון

טובההיתההאמורהמבתןמשקשלזאת-
ו-0.531-המיכלבחלבמ"צ0.525-רקיותר,
כלשלמשוקללתממוצעתקפאוןנקודתמ"צ

זה.בעדרהחולבות
נקודתלביןחלב-המיכלביןההפרשאת

למיםליחסישהפרותשלהמשוקללתהקפאון
ובמיכלהחליבהבמערכתכידוע,מוספים.

בגמרמיםשלמסויימתכמותנשארתהחלב
מיםעלכללמדוברלא(והשטיפההניקוי

אולמיכלהחלבשאריתל"דחיפת"ששימשו
כאן,המובאבמקרההמובילה).למיכלית
שהםמוספיםמיםכב-5~0.9מסתכםההפרש

עדכ-5מהוויםליטר700-600שלחליבהבכל
בטנק.מיםליטר6

חלבשלהקפאוןבנקודתהשינוייםמהלך
במשקהמבחןבמשקפרטניותמפרות

התחלובה.


